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EXNFE D 3,201,634 2,098,338 1,103,296
= 1,493,000
< 1,708,634

FOHORAFYXNHHH LS 3,180,934 2,076,351 1,104,583
= 1,493,000
< 1,687,934

SEHUNAHZ S 1,129,214 169,992 959,222
= 600,000
< 529,214

K& THE AFAHE 600,000 104,138 495,862
= 600,000

201 L2l 1,720 1,720 0
= 1,720

01 At 22/l 1,720 1,720 0
Oggt=2tl 600
OABFAUSAUM 600
= 600
O2dsg 1,120
OXNEMEMRARI 2+ 1,120
= 1,120

202 odl 5,000 3,874 1,126
= 5,000

01 = LH o4 1l 5,000 3,874 1,126
EPAESPY SN E=FSRC ]| 5,000
= 5,000

308 XXX S0 A 593,280 98,544 494,736
= 593,280

01 AXNSHBLAEES 593,280 98,544 494,736
COOXI = THZEAFALS 593,280
= 593,280

SFLNE=S LA S 39,522 33,162 6,360

201 L2l 18,962 14,962 4,000

01 At 22l 11,500 9,500 2,000
O2g+ 6,400
OXNEHEHFHUMRARZIRES 6,400
O3l 5,100
Oslo itz s 1,700
O=ZPSEESRAUS 1,400
O=gllIdsd M2 2,000

02 3323l 2,462 462 2,000
O2223YAA 2,462
OGPSEE E0O0IHAZ 462
OXNEB=HHUZMERHASHEZ 2,000




2M: EXNEE DN
M ZOIBOYENNHE P
SRR EL B CERED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
03 A2 Z Hl 5,000 5,000 0
OXNEGRYLE SRS 5,000
202 odl 11,200 11,200 0
01 = LH Yl 11,200 11,200 0
OXNES2=T0HI 11,200
OXNA&FH=ZA A 6,000
OXNEBIRFAHEHNEZ LAY 5,200
303 Z& = 9,360 7,000 2,360
01 Z& 3 9,360 7,000 2,360
OEXNHEHRFSAIE 9,360
OEXNHEHRFANRIIN A 7,000
OENHERSNEHERLES 360
OXNEAIASHIT WML ERSXAIA 2,000
NEHHAAERA 32,692 32,692 0
201 Let24d] 21,492 21,492 0
01 At 22l 3,000 3,000 0
Jet=ZH| 3,000
OEXNEE2AHUETRASHES 3,000
02 =224l 18,492 18,492 0
A EHl = Xl dl 18,492
ONEHHIANAHFTHMI RN ESZ 18,492
202 oddl 11,200 11,200 0
01 = LH o4 1l 11,200 11,200 0
DENEELRSFANH 11,200
EXN#HF LA S 300,000 0 300,000
403 MHXISHE X201 H 300,000 0 300,000
01 X SHHX2E= 300,000 0 300,000
OZANEEQIASHAAE RS 300,000
NEIEEH D3 157,000 0 157,000
202 O4dl 5,000 0 5,000
01 S LHAYI 5,000 0 5,000
OJ==28 BB AFE0YI 5,000
401 Al Bl 28I 152,000 0 152,000
01 A& HI 150,000 0 150,000
OXNEINZHANASKNAMENSLEHEIS 150,000
03 Al 20 HI 2,000 0 2,000
O=24BIANEBBRLYS 2,000
EEHXNEEMAHTRS 2,051,720 1,906, 359 145,361
= 893,000
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¢ FHXelEEMARS (&)
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 1,158,720
NelZ3EANAE2Y 275,131 383,572 A 108,441
201 Let24] 127,131 114,872 12,259
02 22224l 127,131 114,872 12,259
A€ ZHI R X Y| 127,131
O=2ENSHEHEY2AFTIMIIF A E ] 43,838
OZNSAUEEMAE LA AR X E ==H] 83,293
202 oddl 18,000 18,700 A700
01 = LH o4 1l 18,000 18,700 A700
OXelEELS =8N 18,000
405 XHoHF S HI 130,000 50,000 80,000
01 HatH ESFH S 130,000 50,000 80,000
Ot =2EXNZEANAHBATIILESHA 130,000
CE2HFASELMESEX 151,300 9,300 142,000
202 o4dl 6,300 6,300 0
01 = LH o4 1l 6,300 6,300 0
OE2E A0S FA 0| 6,300
203 YR =2t 5,000 3,000 2,000
03 Al =AY 2= 5,000 3,000 2,000
OE2Ex40252 5.000
308 A EHHSOIA 140,000 0 140,000
01 HXNHHNBHEELS 140,000 0 140,000
OE2HFLAMESEA(XH) 140,000
CEREFASEUHEZ2Y 11,612 5,000 6,612
201 Let24E] 6,000 5,000 1,000
01 At 2t 2l 6,000 5,000 1,000
O=2dg=¢ 2,000
OEZ2EFARARI2IEH 2,000
Oger==&H| 4,000
OEZ2EFARARIIRES 2,000
OL2EFAYRFISAZEFRY 2,000
403 MHXISHE X201 H 5,612 0 5,612
02 S| 2SO0l CHEHCHE AH B 5,612 0 5,612
CEYFAANAER2I 5,612
S ZYRIGHAIE S H &S} 700,000 720,000 220,000
= 700,000
403 A X EHHS 20l A 700,000 720,000 20,000
= 700,000
01 X EHHMA=E L 700,000 720,000 A20,000
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ool EUX2EEMARS (&)
SA - BB B () - MM - BES Ol &t o San HmEET
OEZ2LXotAIE 28 &tat AL 700,000
= 700,000
E2HEFAAY 496,677 417,487 79,190
403 XIS E X201 & 496,677 417,487 79,190
01 X SHHX2E = 340,000 0 340,000
ORHIEE2HFAALESSCIAIABISAS 170,000
OS99 =22 HEHEX 170,000
02 S| 2SI CHSHHEH AH B 156,677 417,487 A260,810
OC2HFAIN2CAXNTEEHE NN 156,677
CREFAMNGEELMESEN 192,000 333,000 A 141,000
= 42,000
< 150,000
201 Let249] 192,000 193,000 A 1,000
= 42,000
< 150,000
01 At 22l 192,000 193,000 A1,000
OE2HIASHSRHAY 192,000
= 42,000
< 150,000
CE2HFAAG(EX) 25,000 38,000 A 13,000
= 25,000
403 UtXISHH S =0l & 25,000 38,000 A 13,000
= 25,000
01 HIXSHMA2E X 25,000 38,000 A 13,000
OE2HEFAAMNE(EX) 25,000
= 25,000
SESUHAS XA AS 200,000 0 200,000
= 126,000
< 74,000
308 XtXIEHHSOIA 200,000 0 200,000
= 126,000
< 74,000
01 AXHHILEES 200,000 0 200,000
O=2EZ2HAE X3 M A A 200,000
= 126,000
< 74,000
HE2LAZH(EXNZEE D) 20,700 21,987 A1,287
Jl=&l 20,700 21,987 A1,287
Jl2ztl 20,700 21,987 A1,287
201 Let24d] 20,700 21,987 A1,287
01 At 2teltl 20,700 21,987 A1,287
Ogst=2tl 12,300
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M HER2IIU(EXNZE D)
¢l =gl (chel & 9l)
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4,300
8,000
8,400
8,400




